3.20 ELECTRICITY (448)

More Past Papers. Visit - www.elimucentre.com

3.20.1 Electricity Paper 1 (448/1)

i

e}

ihi

ey
(h]

(i)

(bl

SECTION A (48 rmarks)
Ansver alf the guestions in this section {n the spaces providod,
Chuthing the procedure of comnecting an ammeter o take 8 measumement moa omemt.

12 narks)

Figure 1 shovars v resigoor with colowr hands.
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I ktorming irs;
i1 navminal resislanee: (1 mark
(i) CLAsLIENI reslstance, 12 miacks)

State tweo reasons o using a circuil diagram when voalleshooting an elacirical

UL ar, (2 maks)
State four components of @ bill of matenalz i project fabncation. (2 marks]
Fxplain the etfeet of cach of the following ina p-n junceion: i 7 marks)

1} lorward bias;
(i) Teverse hias,

Slale the meaning ol sach of the Tollowing ratings ol a hight emitling diode:

. (2 marks)
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Figore 2 shows a transformer whose primary impedance is 1 ki,
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I3crerming the;
(i) prTnary cumenl T__I',

e} volloge across [

Wil e aid of Tabelled diagearns. Mustae e anwszersent of magsens Jomeins in:

[A) wnmagnetised material;
ihi magnetized matcnal.

[al Figure 3 shovacs wovliage divider circuil.
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Dietermine the vulue ol
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(hl A gonanmar haz the fallowing loads connectod to the supply:

(1] lve 600 W [grhis Ton 4 houra:
(il wne 2 KW ketllle [or J_' hisrur.

Calevlate the total:

i1 cnergy consummed;
i1l vusbol enerey wsed il the rale = 80 cenls per unil.

13 s’

lal Stote thiee salely preciulions W e ehearved by an operalor using a poitable eleciic

drill. {2 marks)
thi Mame fwr communication servive proyvider companiss currenily eperating in

Foenva. {2 roearka)
[al Marne four bypes ol insulating materials wied melectrica] circoils. 02 roearks)
ki Stale three advantagres of PV comdiil waring seslens. 2 rearks)
[al Caleulate the indoclonee requaned o canse resanance al 150 RTT when the

capacilanee = L0 pl. 02 roearks)

i) Lo 2408 cicwit, the Ioad cuceent 15 2-3 A, I the power Facoor s 040, caloulate:

(1] AP ToweT;
(1l VLI TR T
1.3 mark )
Bl u fmee hand ometnic drawing of @ conduil sadidle. 05 mrksh

SECTTON I 52 marks)
Answer gny four guesiows Jronn Dl sectin (n Dhe sooces soivioled

Figore 4, in the nexe paze, shows the front clevacian, cnd elevation ancd an incomplste plan of
an ahject.

lal Complate e plong

[hi i che isometric grid provided. draw the sometric projection of che abjeer making X
the lovaese poant.,
(123 mwarks)
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(al Moumne cach of the Dwoe woaveefirme. 11 k)

(bt Stale the number of cecles displavesd in each wavelorm:. (2 marksl
(el Coalewlabe:
(i} leguency o wavelorm A

1L} amplitude of each wavelform,

(g RMES voltige of waveform A
i 1 marks)

(4] Dyeawe g labelled diagran of a consumer uwit with the following fnal cionits,
(il Lizhlins clrouil:
(il watar heatzr crsuil;
(i)l bl cienit
v crnkor cirenit
v} ring circuit.
O ks

(ki Stare che rvpical tuse ratings for any four of the final civcuits in {a), {Z marks)

Fiywre & shivws an amphfier circail whose coment gain is 50,
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[a (1 Mames the Wepe of ITansisior;
(i) State the functicon of the capacinor C.
(il Wame the tepe of hiasmg,. (% marks]
(b Calevlate the values of! LI miacks)
(1) wiH L pUriss F'.I;
(1l base current IB:
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i eollector curcent 1
vy woltage V.
1= Figore 7 shuows an B-L-C circuil.

=100 L=50mH C=2pl
I_l ."il',"-lnl.-- ) I |
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lal Culeulale the:
il impedenss of the clrcnit, {7 macks)
i} CUTTEIL. 03 trarhs)
(bt Do the phasor digaram. (3 marksl
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